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•
��	�-E / *��L �����D �2�H �� ��-��� 
��<
�� 0�E-2 *�� 
���< 
���2 / �� @�-E �����D 

��<
�� 
��  �2�H M�-E 
�����
�� 
��  �� @�N	 
���� ��� �$%O/ 
�����	 �$%O <�H� 
PQ6� ��� �2�H �	�-(	 �< RL-� S.� / 0�C< 
��< �� �����D ��2.

•1- �����	 
� ���
 ����: */�UE 
�����
�� 
��  / 
��<
�� 
��  ���. 
�����
�� 
��  
S��H � / ��	 / 
�����
��� ��� �2 V�W X� ,�� �< � / ��	 S���E 0�H �� �< �/�& (&�� �� 

V�Y� 
��-H / 
��<
�� 
��  
��<
��� ��(�� �2 ���< V�W *�� X� ,�� =� SZ� 
����� 

��  �� ��:�� 
��< ���  �����D �-H.
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•2- ���� �
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�����
�� 
��  / 
��<
�� 
��  ���. P�� ���	 �ZE ��-	*�	 

5Y& 
��H�< / 
(2�H �2 �� 0�E-2 *�� 
���� *\QN� ]���(�� ��� ���< ���	 
��  
�1�< 
�(H�� �H�<. M�-(� �%�. 
��< P�� ���	 5/2 
��H�< 
�%� 
����� 5/2 �<��< 
��< 
��  ���. 
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•
����� 
��  �2�H ��=" 300,000,000A 
��<
�� 
��  @" 150,000,000A 
�- -� 1�2  

30,000,000 / G$D �����D 20,000,000 
��H�<. ������ �� A���� ���	 
��  / ���	 
	" 

�� ���< ���/".

   =���� �� ������ ���� 300,000,000  - 150,000,000  =150,000,000

���,���,���

���,���,���
= 2 =
��  ���	

250,000,000= )20,000,000 +30,000,000 (- 300,000,000 =
�����
	" 
��

���,���,���

���,���,���
= 1.67   =
	" ���	
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•@�F$� 
�$���Q< 
�����
�� �2�H M�-E @����� �� @�F$� ��<��2 
������� / V�Y� ��R<� 
��� 
�2�H �� 0=��	�
�$� 
���2. ���	
�� A�$��%& @�F$� �2��N� #��'�� �� `�ZE �&�/ �� 
@�N	 
�����. P�� ���	�� �$a =� ��Q567 #��'A�� @�-E 
�����	 �2�H �� F$	 N	@� 
� -

����.

•1- ���� ���
 ������  �!"#��
� )%����&�(: ���%E *�%&� S./ *����+� �� b
 
X� ,�� �� @�N	 
����.

�/�& ���� 

*����+� M�-(�    =*����+� ���� ���	

0�/� ,/� *����+��0�/� @���D *����+�
� 

 =*����+� M�-(�
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•2- (
)� *+) ������  �!"#��
� )%����&�(: ���%E 
���=/� ��� �2 ,-b 
��N2 �E c5b
�� �H�2 
,-./ �-H.

•
���

*����+� ���� ���	   =*����+� ,-./ 0�/�

•,�d�:

��� �/�& ,�� 2X �2�H �:& 000,000,80 / 0�	�� *����+� ��(<� / @���D 0�/� P�� ,�� �< c$E�E  

15,000,000 / 20,000,000 �H�<. ���	 ���� *����+� / 0�/� ,-./ @" �� ���< ���/".

��,���,���

��,���,���
= 4.57    =*����+� ���� ���	

��,���,������,���,���

� 
= 17,500,000 =*����+� M�-(�

���

�.��
= 79.86 ≃ 80   =*����+� ,-./ 0�/�
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 ��,�,� -�.: P�� ���	 @�N	 
���� �2 �� ,�� ��f ��< )�%&�( 21� 

���� / �/�& 
��-H. 
���C�	 G$< =� �' 
�- -� 1�2 g7�< S6ZE ���F�
�� 
������	� / 


<��� 1�2 / 
���C�	 K2 
�- -� 1�2 g7�< X��� @���& 
�- -� / �L-E �$�-E 
�H�-. 

���� 
��� ���< �	��< 
�- -� 1�2 �� �� �f 
�' ��	 ����.  

�(&� �/�& 
1�2 0�H B�6E 
�C<
1�2 
�- -� M�-(�    =1�2 
�- -� ���� ���	

0�/� ,/� 1�2 
�- -��0�/� @���D 1�2 
�- -�
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•4- (
)� ���
 ��,�,� -�.: ����� 
���=/� ��� �2 
��< �� ��< ���� / �/�& 1�2 ,-b 
��N2 )�< �-b �-(�M 
1�2 ��f ��< �� ��f =/� ���Q� 
b ,�� �< ���	� ���/ / =� @" ;��� 0�H ���(.

•
���

1�2 
�- -� ���� ���	   =1�2 ���� 0�/�

•,�d�:

�� ,�d� �2�H �:& ��� 
�C< B�6E 0�H 
1�2 �/�& �(&� 50,000,000 / 
�- -� 
1�2 ,/� / @���D 0�/� �< c$E�E 

45,000,000 / 50,000,000 �H�<. ���	 ���� 1�2 / 0�/� ���� 1�2 �� ���< ���/".

��,���,���

��,���,���
= 1.05    =1�2 
�- -� ���� ���	

��,���,������,���,���

� 
= 47,500,000 =1�2 
�- -� M�-(�

���

�.��
= 347.61   =*����+� ,-./ 0�/�
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•5- (
)� ���
 %�1234: 0/�� ���� *�$567 X� �'�/ 
��:E ���%E 
���=/� ��� �2 

�- -� 1�2 / *����+� @" �< � / ��	 S���E 
��-H / �f�� 0�E-2�E �H�< 
��< 2�H� �(C< 

���.  

• *����+� ,-./ 0�/� + 1�2 
�- -� ���� 0�/� =*�$567 ���� 0�/�

•,�d�:

0�/� ���� *�$567 �2�H �:& �� ���< ���/".

79.86 + 347.61 = 427.47 =*�$567 ���� 0�/�
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•6- ���� ���
 6,37� ��8
8�� : P�� ���	 
��< 
<�=�� 
��	�-E �< 
�$���2 hi�� 
�����-

�� ��-� 0��U(�� ���L 
���$�.

•
���� �/�&

�� 
����� 9-6:� M�-(�   =
����� 9-6:� ���� ���	��

•,�d�:

��� 9-6:� 
�����
�� ,/� / @���D ,�� �2�H �:& 220,000,000 / 200,000,000 �H�<. 
���	 ���� 
�����
�� P�� �2�H �� �< ��� ���/".

��,���,���

���,���,��� 
= 0.38   =
����� 9-6:� ���� ���	��

���,���,�������,���,���

� 
= 210,000,000 =
����� 9-6:� M�-(���
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•P�� ���	�� @�F$� 0��U(�� =� 
��< �� ��(��� ������ / P$�jE 
��� �2�H �� @�N	 
����. E
��	�- 

�����D 
��<�� �< 
�/"�-� �2�H 
�(�< ���� ���= �2�H �� 
(��' 
��	�-E �/"�-� H�<� �2 �� 

��5< *�� �	�-(< 
��<G��� �� �����D ��2. ���< ���	
�� 
��< ��<�O 100 �-H.

•1- ���� � 9:: P�� ���	 �.�� 
�- / �� @�N	 
���� �2 =� `��b 
��< P$�jE 
��-H.

�� 
��<
�� 
�����  =
��< ���	
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•2- ���� � 9: �: �;
8 (<�) )=,>� ?����+ @A�B	 @�����	 ���� ��8
8�(: P�� ���	 @�N	 
���� �� 

������ �< 
�- / �2 =� `��b @��'�. B�C� P$�jE 
�A�-H ���f =� R<��� 
��� M�-E 
��< �< ��� 0��" ���.  

�(Q	: P�� ���	 ��$%� 
6C� =� 
��	�-E �����D 
��< ���.

�� 
��< 9-6:� 

B�C� @��'�. ?-�'  =0>�/ �=�� �< 
��< ���	

•3- ���� ?8,C ��8��D (�B: )EF,D �!�G  (�B:(: P�� ���	 ���%E 
E�%&� �� @�N	 
���� �2 �-� S�L =� *�$��� 


��	�-E ���F� 0�C< �� GH-D ���. P�� ���	 
��$%� =� �$H�' P6�� ��� 
�%� �E �f �' �2�H 
��	�-E ��2G �� 

�-� �� S6ZE ��2.

*�$��� / 0�C< =� S�L �-� (����)

0�C< ����� (�)
  =0�C< �����D @�-E ���	
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• �� �2�H �:& ��� �� @���D ,�� 2X 9-6:� 
��<�� 000,000,110A �-� S�L =� 0�C< *�$��� 

20,000,000 / ���F� 0�C< 2,000,000 A�H�< ���	
�� 
���� �� ����Z� �$�2. 

���,���,���

���,���,��� 
= 0.55   =
��< ���	

���,���,���

!�,���,��� 
= 1.22   =0>�/ �=�� �< 
��< ���	

��,���,���

�,���,��� 
= 10   =0�C< �����D @�-E ���	

•�(Q	: 
(L/ 
����� ,/� 0�/� / @���D K���� / M�-(� B=1 �H��	 
����� @���D 0�/� �� 
��<K����. 15


